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What is the mass of Nz produced from the decomposition  JSy nea ye LS NaNy = 130.0g <58 2 W3 Ny U5 W
of 130.0 g of NaNj as shown below? ol

( molar mass of NaN3= 65.0 g/mol , and of N;=28g/mol)  (28.0 g/mol = N; 45« 65.0 g/mol = NaN; J 4yl 50 )
‘ N, g

allyis) — 2Nals) + 3N

o ad e e e Q1

dbujall Ladnil Sl ynall

CHMS5301012 ©




Sodium Na and iron (lll)oxide Fe;O reacts el 345 F 04 (I) sl 18 as Na o0 sl Jeli
according to the following balance chemical L 2 Dy 3 gl LydpaS)
equation:
6”“'(:1 +F 3203{5'1 - 3N azo(ﬂ ¥ ZFe(ﬂ
If 4.35 mol of Na and 0.63 mol of Fe;0; are used o Fe;0; 5 0.63 mol a« Na ( 4.35 mol paaiul 13
in the reaction Je i
Which of the following is the limiting reactant? faadl Jelial g L L
Fe,O;

LR Jolasal 0 felaall Q.2




What is the percent by mass of NaMCO; in a solution
containing 20.0 g of NaHCO; dissolved in 600.0 mL of H;0?
(1 mL=1g)

e i Jslae 3 NaHCO, J S & i i
TH20 = 600.0 mL 4 4se NaHCOy - 20.0g
(1 mL=1g)




What is the reason that gypsum does not dissolve in  Tawisl bk &l a2y sladl il ¥ (el O A el
water even though it is an ionic substance?

Because gypsum contains polar bonds and water dudad b Jasly) (Seov slally dudad Jasly) Seow ! OY

contains non-polar bonds

Because gypsum is a non-polar compound and water is gad slally glad 4k (S el OY

el 1Q.3

Because the attraction force between gypsum ions is N diuad gl CUg (v L3l 593 OY
ary weak

Mﬂummmmmh U dogh Sesndl Slgl o oSl 59 OY
very strong
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The graph below shows the solubility of several substances at

different temperatures.

Which of the following substance has a solubility initially
decreases rapidly as temperature increases?

< I >

PRGNS T Ape—
CHMS5.202002 ©




What is the molarity of an aqueous solution containing 385skal 50 90.0 g J& Ssiow Pl Jolons Y90 o
90.0 g of Glucose (CgH120¢) in 2.0 L of solution? Tdglonalt 50 2.0L (8 (CeM1206)

(Molar mass of Glucose = 180.0 g/mol) (180.0 g/mol (2 jsSylall ddgalt A1)

&, lye 1Q.5




§/5 (dallal atVpall 1Q.9

Which of the following is the correct unit of molality? Y sl dngandl i B 4 LY L




575 idalialt b s R i

If 0.80 g of a gas dissolves under 4.0 atm of pressure in 100 J4.0atm olade Jaid sis jW 50 0.80 g 15 1))

1.0L of water at 25°C. 0 25 °C okl By Amyd § sl 30
How much will dissolve in 1.0 L of water under 2.0 atm oylihe Jadd § bl e 1.0 L 3 ot 1 W ALS' A e
and the same temperature? Tl B0 darys (39 2.0 atm

Reactants leftover when a reaction stops MMMN&HI&JU&
are called............. s gl

CHMS5301012 ©

excess reactants oaailall Jelaid!




What is the total mass of the reactants in the following %55 Al Aldaall (A Ao ad) 41 pall J3S £ paes bt

4 Feyy+ 30y — 2Fe;0y,

balance chemical equation? Yo

3194

alclacal slpall LS ¢ pase Q10

CHMS3I01.011 o




What is the limiting reactant in the figure shown below? Tolddl s pall S L el Jo kil b
St SO day
P Betors Reaction After Reaction
© (o%
‘. $ ge W G O + ‘
gl O SR~
esiy i B earie Shaye IDE i et peried

e I N s T ROON Oy TN (WY

samal leliak Q.01

CHM5301012 o




What is the solvent of air? Solgg ) Spgall el ba

Nitrogen
Oxygen

b
. Oxygen s

£
-

d
° Carbon dioxide oA )

5/8 :dallad Jollnal e Q.13

ey A
sl ey

Which of the following is correct a bout diluting solution? 0 el i Jga mnes b Lae

The total number of moles of solute does not change Ay Y Gl e YD e

b

© The total number of moles of solute increases A3y haal v LI T
- '] | 1 a kb a “-

S

& total number of moles of solute decreases

4
Y The total number of moles of solute is doubled s el YISy ae



What is the study of quantitative relationships
between the amounts of reactants used and
amounts of products formed by a chemical reaction called?

oo Apel) A A 33 and e
51 ) ity Al il 3yl
o Jeli ) e

el Asilat -Q.14




Which of the following mole ratios is NOT true for the Ay Al el sl s ALl A gall
balanced chemical equation shown below? -

2KCI0x(s) — 2KCKs) + 30(g)

b | .'i
daapal

i

CHMS.301.011 ©




How many moles of CO; are produced when 5 moles of TCsMg = 5 mol Jo 'l e miies OOy 0 Jpe o8
CiHsp+ S Qg I CO2p+ 4 H20(g)

CyHy are reacted?

Jgs o Jya g 1Q.16

Two liquids that can be mixed together but separate Mm.;sm.;ﬂmwas.,m.
Shortly after are $3id 10 De ..occvcrmmscmmee  seseessssssmssssssnnes g o) iy 2D )




What is the first step in solving stoichiometry problems? FAhaadd) Chdeaddl Jhass Ja A V) 5 gladdl e

Writing the balanced chemical equation 0y pad AigaiS) Aldadd A

Writing the unit of the given substance el Sl baa 5 40K

Writing the unit of the unknown substance yoad e B e UK

the mole ratios 4yl ol 4K

Gl cAdindl Jiloss J> Q.18

CHMS301.012 o




What do the coefficients in the following balanced chemical Uy opdl) Gl Al 3 SOMaall agl) 0 531 e

equation indicate? adah
zuﬂ(,) + a:(') - 2"‘0(.)

Moles number | <Yyl 2e | |
__Molecules number | <yall 2 | 1
__ Atomsnumber | S\l se |

A Aea Sl alslual s 1Q.19

CHMS5301011 @




iyl Q.20

Which of the following is true about colloids particles? Ty Al Dhageans Sy Lo mpns L Laa

Do not settle out T
5/5 :dallal Bamall Jplaad (021
Which of the following happens at saturated solution o el Jotaad B ainy s aa g
at a specific temperature and pressure? fosaakiogi ) pada 2
P
'ﬁmﬂmmmmdw ,,laa.,;e.a,,az.,,p i

The rate of solvation increases than the rate of ¢

The rate of solvation decreases than the rate of crystallization A A e e il de ju B
= The overall amount of dissolved solute in the solution increases Joladd b AS0 L A0 80 S 5




Which of the following is a suspension?

Scdilad n ying by oo g

laleak 1Q.22

In the expression “like dissolve like"
the word like refers to similarity in molecular

Bl i m® 10L23




§/5 cisilall ipal n8 £l Q.24

Which of the following present the fastest dissolving sl A B ) pliad L laa gl
when using the same amount of sugar and tea? gl g Sl o Slaadll Gl pladi) de

A sugar cube in iced tea gl Ll § St e

Granulated sugar in iced tea 2l SL § Ogmaalt ;S

Granulated sugar in iced tea while stirring oyl ae it S § Oamdaall SN

Granulated sugar in hot tea while stirring oyl s el SLA § Ogamlandl S




How many grams of NaCl are produced when 2.50 mol of Cl Cla = 2.50 mol Jelii s it NaCl ol oS

is reacted?

(Molar mass of NaCl=55.44 g/mol) (55.44 g/mol = NaCl J &y alsh)
2Nag + Chg = 2NaCl ¢

sy ol Sy o Jopw 1Q.25
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